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N - #h E 50 cm
No| BIEE X% L it bR RibE MELT I EhE
1 ETHHEE 0.08 0.08 - 0.09 -
2 REfE 0.08 0.08 - 0.08 0.07
3 B f04) ¥ & 0.10 0.10 0.08 0.08 -
4 BEREM 0.09 0.08 - 0.08 -
5 AR R 0.10 0.10 - 0.10 -
6 SIERER 0.08 0.08 - 0.08 -
7 RICHHEE 0.08 0.07 - 0.07 -
8| 4A23H TIURAREER 0.08 0.08 - 0.06 -
9 HREBESHLES — — - - -
10 BUSFEHHE 0.08 0.08 - - -
11 HOZHHE 0.07 0.07 - 0.08 -
12 = RERER 0.09 0.07 - 0.07 -
13 % |SHREE 0.07 0.08 - - -
14 i’lz@ VIEY i E 0.06 0.07 - 0.07 -
15 EERER 0.08 0.09 0.08 0.09 -
16 TNhELREER 0.07 0.07 0.07 0.07 0.07
17 KIBRERT 0.08 0.07 0.08 0.08 0.08
18 E/vFH 0.07 0.06 0.06 - -
19 KEAR B 0.06 0.07 0.09 0.06 -
20 VFEHLYREE 0.06 0.06 - 0.06 0.07
21|4A 248 BEREM 0.07 0.08 - 0.07 -
22 ERARER 0.07 0.07 - 0.07 -
23 BEERER 0.08 0.07 0.08 0.09 -
24 AEIERER 0.07 0.07 0.07 - -
25 ELFHHE 0.11 0.10 0.10 0.11 -
26 FRESNHE 0.08 0.08 0.06 0.08 -
27 - BREFIRER 0.07 0.07 - 0.08 -
28 it | KBHRER 0.08 0.08 0.07 0.06 -
20| 2B [—mmam 0.08 0.09 0.09 - 0.09
X
30 KIMRERT 0.10 0.09 0.10 0.09 -
31 HIIREM 0.11 0.09 0.08 0.09 -
32 LFRERT 0.08 0.08 0.08 0.08 0.08
33 A [EMERER 0.10 0.08 0.08 0.08 0.10
34| 4R 25H ﬁ IR RERT 0.08 0.09 0.07 0.07 0.09
35 X |FIHRERR 0.09 0.08 0.08 0.08 0.08
36 BEXRERM 0.10 0.09 0.08 0.09 0.08
37 AOVREER 0.07 0.08 0.08 - 0.09
38| 4A 268 |¥k&E |FTHRER 0.09 0.09 0.07 0.08 -
39 it |BHEERER 0.07 0.07 0.07 0.07 0.07
40(4A20H ﬁ; HERERM 0.08 0.09 0.08 0.08 0.09
41 X |fBINEREFR 0.09 0.09 0.07 0.09 0.09
42(4R178 |4t |BERE(RERARER 0.09 0.10 0.09 0.09 -
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